Unit 10 Day 4 2019.notebook

Unit10Day 3 HW

1. Seegraph on next slide.

6. (2)
=
L) 7. (1)
— 8. (4)
2. 3logx +logy
3. #loga-logb

4. 3logx +logy - 2log z
5. 2logr-logs-1/2logt

9. x=

(S

10. x=7
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Use the laws of logarithms to expand questions 2 - 5.

2. log x3y = SIO?X -+ |®) 'v)(

3. !og{ ,OO\G‘\ ‘IOS}IQ S I/Z_‘CX}JG‘\—\Oﬁb

4. log ’;_V \09x3+ |ocw— 10«322—- Dleg ><+|093 ~Llogz

: )oor (\Oq5+loo+ <)

Zloar IOjS— )03‘5

5. log
(
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6. Which of the following is equivalent to log,(9x) ?

‘0939 + \095><
(1) log,2 + log,x 2 + ‘O‘Cj 3&

(3) 2log, x (4) x+log,2

2
7. The expressionof !og;—o is equivalent to

2
(2) 2log x -10 'OCJ)( —\O3lo

(3) log2x -1 (4) log2x-10 2"03 X—l 03 ’O
— 2logx —|
8. If f(x)= logx and g(x) = 100x3, then f(g(x))=
3
(1) 100 log x (2) 300 log x = )03 (’OOK >
(3) 6+ log x @ '—\OcleO—Hij?’
. )03 00 +3109)§

=2+’51ij
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9. Solve for x. 4
4x—5 _ 1 - = - 3
e th_ +5 25

4x -5 -3 =
5 B 5 4",)( =L X = '/
g g A

10. Algebraically determine the zeroes of the exponential function
f(x)= 227 - 32. Recall that the reason it is known as a zero is because the

output is zero. ZX 9 ) A 2X- 9

O=2" -2L
+32 22
’52- - 22:(—‘?
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More Properties of Logs Unit 10 Day 4
Warm-up

i xa
The expression of Ionggm} can be written in equivalent form as

” (1) 2leg x- 3 (2)2logx-6
(3)log 2x - 3 (4) log 2x - 6

“TogR® - Lag00

LAy X -3
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More Properties of Logs Unit10 Day 4

Reverse Rules of Logs n Sva"sh n
loga+logb = '% (@L}

loga-logb = ‘03(%

nloga = Mqﬂ
%!oga= ]050:’“ = \Osda
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Express as a single logarithm:

“‘z
1. @—Iogb: \osqz—\%b = 103 (t)
2. loga- %@: \O%Q - \OSJT)- = )03 ('%)

3. 3@%@ |03134 \ogdy
|03(X3r'5)
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4. logx’y® —logxy’= los (l;'?i = Ioj (Xzﬂz)

5. loga-1/3logb-1/3logc =

Broos - /ey log o - \03\’,— - loj\’,?-
(. §
- 103 (55%)

March 01, 2019

10



Unit 10 Day 4 2019.notebook March 01, 2019

)

'Base. )D"

log, A= -I-gﬁ‘—q' use Cdlw%f
loq B8

Change of Base Law:

Evaluate. Give an exact value where possible, otherwise round to four decimal places.

5. !09927=_’_g_;—.7 6. log, 8- 1048 7. log, 87 = 10387
los‘) log32. log 4
=1.5 =.0 3.2215
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Express as a single logarithm. Simplify if possible.

8. log,3+log, 2 = /86(3-2\-‘-‘- ’666 = % =)
b
9. log,16+log, 4 = IDS'('G"'B: (ag,b"f :‘ITO;%—? = 2

11. log,80+log 51.2 = 1033 (3’0- 5[2) = /039 4090 2-1?;%4: Lf

12. log2+log25 —logh = Iog(z '25/5) s '%)o ’O = l

12
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13. Which of the following is not equivalent to log 36?

(1) log 2 + log 18 @log 30 +log 6
(3) 2log 6 (4) log 4 +log 9

14, If log 5 = p and log 2 = q then log 200 can be written in ferms of p and q as

(1) 4p+q k"g (2) 2(p+q)
@2p+3q \% (4) 3p+2q

log 00 = log (5*-2") = 24548 + 3 4
Cobe: 2(i0g8) +3(d0g2) K /@900

13
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